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Seven members A, Z, C, E, F, H and B are born in seven
different months (of the same year) namely January,
February, April, May, July, August and September, but not
necessarily in the same order. Each of them born in
different days namely Monday, Tuesday, Wednesday,
Thursday, Friday, Saturday and Sunday, but not
necessarily in the same order. C born in a month
immediately before B. H born on Thursday. A born before
F. The one who born on Sunday is before the one who born
on Friday. The number of persons born between A and E is
same as the number of persons born between E and Z. F
born in a month which has only 31 days. Only three persons
born between the one who born on Friday and F. The one
who born on Monday born immediately after the one who
born on Saturday. The one who born on Tuesday is neither
born in the month which has 31 days nor in the month
which has less than 30 days. Only three persons were born
between the one who born in Tuesday and B. E is born in

<7 @Reasoningbybasantsir May on Monday.
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following day does F born?

(1) Monday

(2) Tuesday

(3) Thursday

(4) Wednesday

(5) Saturday
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

How many persons were born between A and H?

(1) One

(2) None

(3) Four

(4) Three

(5) Two

>
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following represents the month in which H
was born?

(1) December

(2) May

(3) July

(4) September

>
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following represents the persons who born in
September and on Saturday respectively?

(HODE,H

2)E, C

3)Z,H

4 Z,B

-]
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w C born in a month immediately before B. H born on Thursday.
A born before F. The one who born on Sunday is before the one
who born on Friday. The number of persons born between A
and E is same as the number of persons born between E and Z.
F born in a month which has only 31 days. Only three persons
born between the one who born on Friday and F. The one who
born on Monday born immediately after the one who born on
Saturday. The one who born on Tuesday is neither born in the
month which has 31 days nor in the month which has less than
30 days. Only three persons were born between the one who
born in Tuesday and B. E is born in May on Monday.

Four of the following five are alike in a certain way based on
their seating positions and so form a group. Which of the
following is

different from the group?

(1) H-Monday

(3) F-Thursday

(5) Z-Tuesday

(2) E- Saturday

<4 @Reasoningbybasantsir (4) B-Friday
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L,M,N,O, R, T, U, V, W, X, Y and Z live on six different
floors from 1 to 6. The ground floor is number 1 and top
floor is number 6. There are two flats on each floor, flat-1 is
west of flat-2 from such that flat-1 of third floor is exactly
above flat-1 of second floor which is exactly above flat-1 of
first floor and other flats are placed in the same way. V lives
below X in same numbered flat. T lives left to Z on the same
floor. Z lives above L in the same numbered flat. The
number of the floors below L is the same as the number of
the floor, above W. Only one floor between V and M in the
same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
Who lives in flat-1 of third floor?

(DR

2) X

DT

) Z

(5) None of these
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
Who among the following lives immediately

left of Y?

(D) Z

2T

4 W

3R

(5) None of these
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
How many persons live above W?

(1) 2

2)6

@9

35

(5) None of these
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same tloor on which V lives.
Which of the following group of persons lives on the same
floor?

MHT, X

2) Y, L

R)DAY

4N, U

5 W,R
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same tfloor on which V lives.
Four of the following five are alike in a certain way and so
form a group. Which one does not belong to that group?
belong to that group?

(1) O

Q)W

4) L

QT

3R
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Seven boxes G, F, E, D, C, B and A are arranged in the top
to bottom. Each box contains different colour Red, Green,
Pink, Violet, White, Black and Blue, but not necessarily in
the same order. A is kept immediately below to the box
which contains White colour. Only two boxes are kept
between the box which contains Violet colour and the box
which contains Blue colour. Only one box is between G and
the one which contains Pink colour. E does not contain
Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D
and the box which contains Pink colour. Both the box
contain Violet and White colour are kept above C. Only
two boxes are kept between E and the box which contains
Black colour. The number of boxes between F and E are
same as between E and G.
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept on the top?

(1) Black

2) A

3)F

(4) Pink

(5) Green
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept immediately above D?

(1) A

2)C

(4) Blue

(3) Violet

(5) Cannot be determined
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

How many boxes are kept between box E and Pink coloured box?
(1) None

(2) One

3) Two

(4) Three

(5) Four
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the position of box A from the bottom?

(1) First

(2) Second

(3) Third

(4) Fourth

(5) Fifth
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the colour of Box E?

(1) Black

(2) Green

(3) Pink

(4) Violet

(5) White
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In a family of ten members, A and B are siblings. P has only
two children (a son and daughter) and he is the son of Q,
who is the father-in-law of H. H has only one son. B is not
the granddaughter of C, who is paternal grandmother of B,
who is the child of H. D is the mother of M and N. D is the
daughter-in-law of C and is the sister-in-law of E. A is not a
child of P.

T ASEAT oh Ueh UNER H, A 3T B WTS-27 21 P h heleT aF
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aTeft £ E. A, P &Y T T R
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In a family of ten members, A and B are siblings. P has only
two children (a son and daughter) and he is the son of Q,
who is the father-in-law of H. H has only one son. B is not
the granddaughter of C, who is paternal grandmother of B,
who is the child of H. D is the mother of M and N. D is the
daughter-in-law of C and is the sister-in-law of E. A is not a
child of P.

How is N related to H?

(1) Niece

(2) Niece or Nephew

(3) Daughter

(4) Aunty

(5) Mother
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In a family of ten members, A and B are siblings. P has only
two children (a son and daughter) and he is the son of Q,
who is the father-in-law of H. H has only one son. B is not
the granddaughter of C, who is paternal grandmother of B,
who is the child of H. D is the mother of M and N. D is the
daughter-in-law of C and is the sister-in-law of E. A is not a
child of P.

How many female members are there in the family?

(1) One

(2) Two

(3) Three

(4) Four

(5) Five



4 @Reasoningbybasantsir

In a family of ten members, A and B are siblings. P has only
two children (a son and daughter) and he is the son of Q,
who is the father-in-law of H. H has only one son. B is not
the granddaughter of C, who is paternal grandmother of B,
who is the child of H. D is the mother of M and N. D is the
daughter-in-law of C and is the sister-in-law of E. A is not a
child of P.

How is A related to E?

(1) Mother

(2) Brother

(3) Sister

(4) Daughter

(5) Son
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Rahul started from his home to the office. He started in the
west direction. After walking for 4 km he turned to his left
and walked 8 km, now he turned left and walked 2 km.
After this, he turned to his right walked 12 km. Now after
turning to his right he walked 23 km and finally turn back
and walked 25 km to reached office.
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Rahul started from his home to the office. He started in the
west direction. After walking for 4 km he turned to his left
and walked 8 km, now he turned left and walked 2 km.
After this, he turned to his right walked 12 km. Now after
turning to his right he walked 23 km and finally turn back
and walked 25 km to reached office.

Find the shortest distance between his office and home.

(1) 25 km

(2) 24 km

(3) 20 km

(4) 15 km

(5) None of these
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Rahul started from his home to the office. He started in the
west direction. After walking for 4 km he turned to his left
and walked 8 km, now he turned left and walked 2 km.
After this, he turned to his right walked 12 km. Now after
turning to his right he walked 23 km and finally turn back
and walked 25 km to reached office.

What is the total distance travelled by him?

(1) 85 km

(2) 74 km

(3) 49 km

(4) 51 km

(5) None of these
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In a certain Code language,

“YOU ARE MY HERO” is written as “lu ma sa ha”,
“HE ARE SO GOOD” is written as “ga ma po go”,
“YOU AND ME GOOD?” is written as “lu so fy go”,
“HERO AND HE SMILE” is written as “sa so po du”
What is the code for the word ‘SMILE AND HERO’?
(1) sama lu

(2) du go ma

(3) sosafy

(4) dusosa

(5 hatydu
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In a certain Code language,

“YOU ARE MY HERO” is written as “lu ma sa ha”,
“HE ARE SO GOOD” is written as “ga ma po go”,
“YOU AND ME GOOD?” is written as “lu so fy go”,
“HERO AND HE SMILE” is written as “sa so po du”
What does ‘fy’ represent in this code?

(1) YOU
(2) AND
(3) ME

(4) GOOD
(5) HE
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In a certain Code language,

“YOU ARE MY HERO” is written as “lu ma sa ha”,
“HE ARE SO GOOD” is written as “ga ma po go”,
“YOU AND ME GOOD?” is written as “lu so fy go”,
“HERO AND HE SMILE” is written as “sa so po du”
What is the code for the word ‘SO’?

(1) ga
(2) go
) ty
(4) sa
(5) Haor ga
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In a certain Code language,

“YOU ARE MY HERO” is written as “lu ma sa ha”,
“HE ARE SO GOOD” is written as “ga ma po go”,
“YOU AND ME GOOD?” is written as “lu so fy go”,
“HERO AND HE SMILE” is written as “sa so po du”
What is the code for the word 'MY SMILE'?

(1) ga ha
(2) go du
(3) fy ha
(4) sa du
(5 hadu
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In a certain Code language,

“YOU ARE MY HERO” is written as “lu ma sa ha”,
“HE ARE SO GOOD” is written as “ga ma po go”,
“YOU AND ME GOOD?” is written as “lu so fy go”,
“HERO AND HE SMILE” is written as “sa so po du”
What is the code for the word ‘HERQO’?

(1) ga
(2) go
) ty
(4) sa
(5) Saorga



In a certain code language,
‘May I come in’ is coded as ‘R$ S% N@ D#’,

‘Can I go in real world’ is coded as ‘G@ K& N@ D# Z.% F#’,
‘May I go’ is coded as ‘S% D# G@’,
‘Come in real world’ is coded as ‘F# RS Z.% N@’

How is ‘Can’' coded in the given code language?
(1) D#

2) K&

3) M&

(4 N@
(5) None of these

4 @Reasoningbybasantsir



In a certain code language,
‘May I come in’ is coded as ‘R$ S% N@ D#’,

‘Can I go in real world’ is coded as ‘G@ K& N@ D# Z.% F#’,
‘May I go’ is coded as ‘S% D# G@’,
‘Come in real world’ is coded as ‘F# RS Z.% N@’

What does the code "S%°* stand for in the given code
language?

(1) May

(2) Go

(3) In

41

(5) None of these

4 @Reasoningbybasantsir



In a certain code language,
‘May I come in’ is coded as ‘R$ S% N@ D#’,

‘Can I go in real world’ is coded as ‘G@ K& N@ D# Z.% F#’,
‘May I go’ is coded as ‘S% D# G@’,
‘Come in real world’ is coded as ‘F# RS Z.% N@’

How is 'world' coded in the given code language?
(1) Either 'R$¢ or 'Z%'

(2) Either "Z.%°* or 'N@'

(3) Either 'Z%"' or 'F#'

(4) Either "Z%°* or ‘G@'

(5) Either 'K&' or 'F#'

4 @Reasoningbybasantsir



In a certain code language,
‘May I come in’ is coded as ‘R$ S% N@ D#’,

‘Can I go in real world’ is coded as ‘G@ K& N@ D# Z.% F#’,
‘May I go’ is coded as ‘S% D# G@’,
‘Come in real world’ is coded as ‘F# RS Z.% N@’

How will 'Can come in’ be coded in the given code language?
(1) R$ N@ K&
(2) S% RS N@w
RIVAZR SO
(4) Nw D# K&
(5) K& RS G@

4 @Reasoningbybasantsir



Amongst five friends, Q, P, Z, F and G each got different
marks in the examination. Q scored more than P but less
than Z. Z scored 69 marks. F scored less marks than only G.
The one who scored the minimum marks scored 62 marks
and the one who scored the highest, scored 81 marks.
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Amongst five friends, Q, P, Z, F and G each got different
marks in the examination. Q scored more than P but less
than Z. Z scored 69 marks. F scored less marks than only G.
The one who scored the minimum marks scored 62 marks
and the one who scored the highest, scored 81 marks.
Who scored the second highest marks?

(1) Q

(2) P

3) Z

(4) F

)G
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Amongst five friends, Q, P, Z, F and G each got different
marks in the examination. Q scored more than P but less
than Z. Z scored 69 marks. F scored less marks than only G.
The one who scored the minimum marks scored 62 marks
and the one who scored the highest, scored 81 marks.
Who is the most likely to have scored 65 marks?

(HP

2)Q

Q) F

@d G

(5) Either G or P



4 @Reasoningbybasantsir

Amongst five friends, Q, P, Z, F and G each got different
marks in the examination. Q scored more than P but less
than Z. Z scored 69 marks. F scored less marks than only G.
The one who scored the minimum marks scored 62 marks
and the one who scored the highest, scored 81 marks.
How many meaningful English words can be

made with the letters A, T,L.,E using each letter

only once in each word?

(1) None

(2) Two

(3) One

(4) More than three

(5) Three



What should come in place of question mark (?) in

the following series based on the above arrangement?
ZN XD UG QK ?

(a) LK
(b) LO
(¢c) LP
(d) KP
(e) Other than the given options
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How many such pair of numbers are there in the

given number “46579739” (Both backward and
forward) same as far as according to numeric series?

(a) One

(b) Two

(¢) Three

(d) More than three
(e) None of these.
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If it is possible to make only one meaningful word
with the 1st ,2nd , 4th and 7th letters of the word
‘ECUADOR’ which would be the second letter of the
word from the right? If more than one such word
can be formed give ‘Y’ as the answer. If no such
word can be formed, give ‘Z’ as your answer.

(a) Y
(b) E
(c)1

(d) Z
(e) M



If 1 is subtracted from each odd number and 2 is

added to each even in the number 9436527, then
how many digits will appear twice in the new number
thus formed?

(a) Only 8

(b) Only 8 and 6
(¢) 8,6 and 4
(d)2,4and 6

(e) None of these
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Ten persons from A to J are attending a seminar on five
different months among January, February, March, April
and May but not necessarily in the same order. The seminar
held on two different dates like 19th and 20th of each
month. No two persons attend the seminar on the same date
of a month. Only two persons attend the seminar before E.
Three persons attend a seminar between B and H. F
attends a seminar in March. B attends a seminar on 20th of
the month which has minimum number of days. A and D
attend on an odd date. A attends on the month which has 31
days. Two persons attend a seminar between D and J. 1
attend the seminar immediately before J and in the month
of May. Two persons attend a seminar between I and G.

\\
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

How many persons attend the seminar before G?

(1) Two

(2) Three

(3) Four

(4) None

(5) Five
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Who among the following attends the seminar on 19th of May?

(1) A

4) G

2)1

3)F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which among the following statements is definitely true?

(1) H and the person who attends a seminar immediately before J
attend the seminar in the same month.

(2) Two persons attend a seminar between A and J.

(3) D and F attend a seminar on an odd day.

(4) B and C attend a seminar in the same month.

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Four of the following five are alike in a certain way and thus form a
group. Which of the following does not belong to the group?

(1) C

4)H

2)B

B F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which of the following persons attend a seminar in a month which
has 30 days?

1M)CcJd

2)LE

4)D,H

B)F, A

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

U Ut # FAfaa dear o safe 98 8 TR 37 gt &1 7@ 3™
faoT <At 2R 81 E o STt 3T ohaiet o6 fvh & 2| UTeh <k
Y 70 B H @1 F 3R A & =1 989 AT SRl <hl
AT E 3R D & qu )
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

Four of the following five are alike in a certain way and
thus form a group. Which of the following does not belong
to the group?

(1) F-20

4) C-4

(2) B-15

3) A-10

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

What is the position of C with respect to E?

(1) Immediate right

(2) Third to the left

(3) 8th to the right

(4) Immediate left

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many persons are there in the row?

(1) 20

2) 19

(4) 22

R)PAR

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many seats are there between A and E?

(Mo

2)1

45

R)R

(5) None of these



Qé_ Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three

of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to

the right ofE
—a%s A,E, V, 1, O 3R U Ueh HehIvii= A<t o o 3T 98
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following is second to the left of the V?
(Hu

2)1

Q) E

4 A

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of 1, sits second to
the right of E.

Who among the following are facing towards the centre?
(1) V,Aand U

2)LLUand V

3)V,0and E

(4) Can’t be determined

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following sits third to the right of 1?

1) O

2)V

) A

(4) P

(5) None of these
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